Moto-All.ru

]

CIIMCOK IOETAJIEM OJId "FRONT SUSPENSION AND SKI" BRP YETI PRO

V-800

[[WWW.OEM.MOTO-ALL.RU/

TEJL.: +7 (495) 177-12-75

-0 T

2410904



CITMCOK OETAJIEY N1 "FRONT SUSPENSION AND SKI" BRP YETI PRO
V-800

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

1 605153775 CpoK ITOCTaBKM OT 25 OHeH SKI *ADJ-SKI
2 605348392 CpOK IIOCTaBKH 0T 25 [Hel COUSSINET *BUSHING
3 505070963 CpOK IIOCTaBKH OT 25 mHe# POIGNEE *HANDLE
. NUT-FLANGE ELASTIC
4 33074 CpoK 1ocTaBKH 0T 3 mHEHN M10X1.5 (1=
. DOUBLURE SKI *SKI
5 605153964 CpOK IIOCTaBKH OT 25 fHel LINER
. PLASTOFAST SCREW
6 605640019 CpOK TIIOCTaBKH OT 25 [He# 6X18 MP PZ(1=10PCS
7 5245362 Cpok noctaBku 0T 19 mHelt SKILEG 8 GR
. COUSSINET INF.
8 414803200 CpoOK 1oCTaBKH 0T 25 fHe# *CUSHION-LOWER
. COUSSINET SUP.
9 414803100 CpOK IIOCTaBKH OT 25 fHeU *CUSHION-UPPER
10 23134 CpOK IIOCTaBKH 0T 25 [Hel SHOCK, SKI
ENS LISSE 3
11 619400006 CpoK ITOCTaBKM OT 25 oHeH CAR*RUNNERKIT 3
CARBIDES
. NUT-FLANGE ELASTIC
12 33074 CpoK 1oCcTaBKH 0T 3 OHEHN M10X1.5 (1=
13 40225 CpoOK II0CTaBKH4 OT 3 gHeH SCREW-HEX M10X140
COUVERCLE
14 605249284 CpOK TIOCTaBKH OT 25 [HEeH *SUSPENSION COVER,
LTS
15 605448594 CpOK IIOCTaBKH OT 25 [Hel COUSSINET *BUSHING
16 572034500 CpoOK 1oCTaBKH 0T 25 fHel COUSSINET *CUSHION
. ABSORBERFIBBER
17 605455680 CpOK IIOCTaBKH OT 25 fHeU WASHER
. BUTEE *RUBBER
18 605354835 CpOK IIOCTaBKH 0T 25 [Hel BUMPER
19 549493 CpOK IIOCTaBKH OT 25 mHe# Bearingplate
20 20014 Cpok noctaBku 0T 35 fHeU Spring washer
21 605625001 CpOK IIOCTaBKH OT 25 fHel RESSORT *SPRING
22 503145600 CpOK TIIOCTaBKH OT 25 [HEe# ENTRETOISE *SPACER
23 316373 CpOK IIOCTaBKH OT 25 [Hel SEAL
24 40305 Cpok mmoctaBku 0T 35 gHel Allen screw M8x20
25 605348439 Cpok mocTasky ot 25 AHei [LOPER STOPPER, SKI
. PLAQUE SUPPORT
26 605348437 CpOK IIOCTaBKH OT 25 [Hel *SUPPORT PLATE, SKI
27 33023 Cpok noctaBku 0T 35 mHe# Nut elastic M10
28 519700417 Cpoxk noctaBku oT 19 nHel Synthetic grease




